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2.2 ) The outcome of this experiment consists of a pair of numbers (z, y) where 2 = number
of dots in first toss and y = number of dots in second toss. Therefore, § = set of ordered
pairs («,y) where z,ye{1,2,3,4,5,6} which are listed in the table below:
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d) B is a subset of A so mhen B occurs then A also occurs, thus B implies A
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f) C = “number of dots differ by,
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Comparing the tables for A and C we see

Anc= E (3,1, 4,2), (5,3), Le,4)?
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@ a) Each testing of a pen has two possible outcomes: “pen good” (g) or “pen bad” b.
The experiment consists of testing pens until a good pen is found. Therefore each outcome
of the experiment consists of a string of “b's” ended by a “g?. We assume that each pen is
not put back in the drawer after being tests. Thus S = {g, bg, bby, bbbaF, bbbbs
b) We now simply record the number of pens tested, so S = {1,2,3,4¥, 5}
) The outcome now consists of a substring of “b's” and one “g” in any order followed
by a final “g”. S = {gg, by, gbg. gbby, bbgg. bbby, bgbbg. bbgby, bbbag¥,sbbbbs. , babbls , bbg bk,
d) 5 = {2.3,4,5F, 61 bbbgbs  bblbggl
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If we sketch the events A and B we see that B = AU B. We also see that the intervals

corresponding to A and C bave no points in common so AN C =.

We also see that (r,s] = (r,00) N (—oe, s] = (—o0,r]° N (—o0, 5]
that is C = A°N B
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